. work to do even with a “cheat sheet” . .

1. Use #32. u=2 = du=dz, a = V3
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2. Use #101. u =2 = du =dx
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3. First replace v/z. Let w = /1 = dw = (\%) dx
= 2wdw = dx
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Now use #83

2/wcoswdw = 2 [cosw + wsin w]+C = 2 cos v/z+2v/x cos yx+C

4. First replace 22, Let w = 42 = dw = 8zdr = tdw = zdx
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Now use #20, with a =1 and v = w
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5. Use #113 with 922 = . Let u = 3z = idu = dx and

2au=2(3) (3z),s0 a = 2.
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6. First replace cos3z. Let w = cos3r = dw = —3sin3zdx.
So —%dw = sin 3dz.
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Now use #49, with a = b = 1.
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